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You need to learn these facts and used them in your exam answers!!!!
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Example of urban regeneration in the UK


Why needed: Stratford very deprived/average wage £28K vs £38K for rest of London


Why needed: River Lea was polluted


Example of how the growth of tourism in a LIC or NEE helps to reduce the development gap


Jamaica, Caribbean


+: 24% of GDP from tourism


Case study of a NEE experiencing rapid economic growth leading to significant change


Main exports are oil and manufactured goods


Features: 25,000 jobs created


Olympic Park, Stratford


Features: Stratford train station improved


+: 20,000 jobs from tourism


-: Damaging air pollution from cars


-: Jobs are seasonal and benefits are focused on the coast


Nigeria, West Africa


Highest GDP in Africa


250,000 people employed with Shell Oil


+: Stratford has become more diverse


-: Cost £9.3 billion 


75% of people have no access to safe water in the Niger Delta



























Example of modern industrial development can be made more environmentally friendly


QUORUM, Newcastle, UK


500 trees planted


2 beehives to improve biodiveersity


1000 solar panels with lights on sensors


An example to show how the extraction of a fossil fuel has both advantages and disadvantages


Camisea project in Peru


+: Make $34bill in gas exports


Fossil fuel: Gas, 


An example of a local renewable energy scheme in a LIC or NEE to provide sustainable supplies of energy


Sompura, India - Biomass (burning cow poo)


+: 240 cows in compounds


+: 430 residents have enough gas for cooking, lighting at night and pumping fresh drinking water


-: Over reliant on cow dung - drought can mean less dung is produced


+: Create 1000 jobs and improve wider infrastructure


-: Indigenous tribes have been made homeless


-: 600km pipelines destroy habitats reducing biodiversity


-: Soil erosion in areas where the cows are concentrated for a long period

























A case study of a major city in a NEE or LIC


An example of how urban planning can improve the quality of life for the urban poor


A case study of a major city in the UK


2 million tourists


Favela Bairro, Rio, Brazil


Opps: Only 50% of 14 year olds go to school


Chall: 60KM of new electricity cables & HEP plants


Rio, Brazil


$1 billion spent


+: 253,000 people had new homes


-: People lack the skills to fix infrastructure when it breaks


London, UK


Opps: Cross rail provides an extra 200mill journeys a year


Opps: Urban greening - 47% of London is green space


Chall: 9,400 deaths a year from air pollution


Chall: High urban deprivation:Life expecyancy - Knightsbridge 90 vs 78 West Ham
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